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void whatsort (int a[ ], int size)
{
int i, j, temp;

for (i = (size-1); i > 0; i--) {
for (3 =1; j <=1; j++) {
if (a[3-11 > al3]) |
temp = al[j-1];
alj-11 = aljl;

alj] = temp;

2 4 (insertion sort)
] A& (selection sort)
(heap sort)

£ A4 (bubble sort)
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#define SWAP (x, y, t) ((t)=(x)
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void sort(int list[ ], int n)
{
int 1, j, least, temp;
for (1=0; i<n-1; i++) {
least = i;
for (3 =1+1; jJ <n; j++)
if (list[]j] < list[least]) least = 7;

SWAP (list[i], list[least], temp);
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struct Dnode { ® 4
int key; @ 5

= 15, B C glof 2239

struct Dnode *prev;
struct Dnode *next;

}i

(_l_ prev| key | neXt'L__)I_ preV| key | neXt'L__)L prev| key | next'l_’

AAE ==
current
@ current->next = current->next->next;
current->next->prev = current;
@ current->next->prev = current;
current->next = current—>next->next;
@ current->prev = current->prev->prev;
current—>prev—>next = current;
@ current->prev->next = current;
current—>prev = current—>prev->prev,

=9 A

= 73—7 1_()

#include <stdio.h>

int i;

int RecFunc (int n)

{

i++;

if (n<=1)
return 1;

else

return RecFunc(n-1) + RecFunc (n-2);

int main()
{
int result;
i=20;
result = RecFunc(5);
printf ("%d, %d\n", i, result);

}
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struct Cnode {
int key;

struct Cnode *link;

}i

link |

| key

link+—{ key [ link > -~ —>{ key [ link4—] key
NS wE 1

new_node

last
key

@ new_node->link = last->link;
last = new_node;

last->link = new_node;
new_node—>link = last->link;
last->link = new_node;

last = new_node;

last->link = new_node;
new_node—>link = last->link;
last = new_node;

last = new_node;

last->link = new_node;

new_node->link = last->link;
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typedef struct {
int row;
int col;
int val;
} term;
term A[ ] = @) H
<t FH>

O A WA F2A19 Al0]9] row, col, valols 84 9]
A M, & N, gkel 00 obd A JiE SMdE
A ghey.

O F WAFH ymA Fx2A= gto] 0o] ofd 34
PE 25 FHe7] el AREHY, ZF F2A19 row,
col, valoll g 949 3 HE d HE s
A7gh,
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@ {4, 4, 4}, {0, 1, 5}, {0, 2, 2}, {1, 3, 1}, {3, 0, 3}}
@ {{4, 4, 4}, 13,0, 3}, {0, 1, 5}, {0, 2, 2, {1, 3, 1}}
® {5, 5,4}, {0, 1, 5}, {0, 2, 2}, {1, 3, 1}, {3, 0, 3}}
@ {{5, 5, 4}, {3, 0, 3}, {0, 1, 5}, {0, 2, 2}, {1, 3, 1}
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